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UNIT 1

$ ¥ EX
Text EATR, NSk KPRETE, EE-LRAY
F, AT R BRI R RS,
%#: equal; neither ... nox; there be..;
do (something) with(something)
w.S F#: 1) R de 2 liketto V
3) like+V-ing  4) like fE/rid
: 5) with ZR“M°
| S.S. M= 0 R X% 0T HRD
Int. ﬂmxﬁtﬁﬁiﬂﬂ’l T, #ﬁiﬁ%’&
L.C ok & Ja, QE*H“E)‘CI&&.
R.M.(A) | IEFRMXRAS BHEFHE € T SN,
W.S. — Word Study
S.S.  — Structure Study
Int. — Review of Intonation
L.C. — Listening Comprehension
R.M. — Reading Material
# %M/
Text

1. For example, students can do their mathemti-c o,

a cumputer.
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1) do YE“%31" MR, #124 T study, learn, % HF OiF, i
I’ll do my lessons tonight.
Are you doing physics at school?
2) mathematics =] FI{E 5=l E %, Bl
His mathematics is (g are) not so good.
The computer writes questions on the screems in
front of the students, and the students answer on
their keyboards.
1) screens: X BHE K, £r—GHENALERE T4
AR,
2) in front of & in the front of X 5l:
in front of Fi;x“fE... 0", in the front of
FR e BTER, PR R, B
There is a screen in front of each student,
A EEANEA 4 BB,
Some students like to sit in the front of the
classroom.
A e A TR AR S (i HEDE B,
This is part of a lesson with a girl.
part of 5 a part of f¥y[X %
ﬂs%&ﬁﬁhﬁﬁﬁ B, part of ®LARE— 45U._t AT
PAE—4EATF; a part of @M RA LT,
(a) part of J5mFiRAyAiASRRIAEEER, HiIES)A
{E% Eazm 1S — 2, fil:
(A) part of the work is done.
(A ) part of them are good.
(writing on screen), (pressing buttons), (after think-
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V-ing X, TLAGIEARIE,
Hello!
Hello [3£7; Hullo [3%] :
(Two z plus four y equals eight.)
1) Two z plus four y Z—A-fas, 1k Jo—4 8 fk, B
- BRIRE SR A,
2) equal: R4y ghia), AR, il
Two x plus four y equals eight.
Two z plus four y is equal to eight.
(Two z minus four y equals nought. )
nought [%]; zero [3£] R&BAB LEWHNERE"
Hyid; oh FRAR“FE"RYILE.
The computer can give Mary the right lesson for
her, meither too fast, nor too slow.
1) giveklessons (2% a lesson) FE7m“¥FiR”; give lessons
(3 a lesson) in FiR“$E...1R", Bi:
John gives us lessons in mathematics.
Mr Wang is giving students a lesson in physics.
2) the right lesson for her W LLHEfEA the lesson
right for her,
3) neither ..., nor ... }%l]i%i7, neither too fast, nor
too slow E—&ii ] right BHANEA,
And the computer can do this with many students
at the same time. ¢
1) A4yal#Rf#%: And the computer can give tne
right lessons to many students at the same
time.

2) at ... time ZERLAMATEZ i, RIA%, #R Hib

e 3 o



R, B
at any time JTiLTTAE, BEN
at that time 7EAPhd
at the right time 7E3& %4
at one time ¥, DAnif 4~
10. Students can also learn a foreign language with a
computer.

learn 5 study #9515

1) learn FR“E R, BH KBS FE KL,
B 2200 v 2 2R S A TS, Bl

He learns very quickly.
He is learning English at a language school.
Have you learnt your lessons?

2) study FR“E, #3, BR, RELEREARGH
FACFEARREELEFFE, ZR), PRBPARELE
75, Bl

John studies very hard.
They studied English at middle school.
We are going to study this problem in detail.

3) learn J5A[PR to V & V-ing, Fm“FALMEAK
HeT5”, i study JEMAAER to Vo8 Veing, (il

The boy will soon learn to swim.
We are going to learn swimming.

4) Fm w3 )"0, T “learn (...) from”, i
AReH study, fil:

He is learning English from an English teacher.
We should learn from Lei Feng.

4..



S.S.

. like XRBH ZLFAE, IFHER to V8 V-ing WL, {7;

He likes to swim.
He likes swimming.
like* Fm —BF B 47, HAfR to V, AWR[PR V-ing, fl:

I should like to talk with you now.

T &R LAY, K 51EA—, f£ Randolph Quirk
L Ay A Grammar of Contemporary English —
e, 54 7 Fh; £ Applied Linguistics: Principles and
Techniques — 45 v, Shirley L. Stryker =gk 10 fpik
FZmAY; MfE D. Waldo Clarke 23 iy The Ground
Work of English Sentence Structure —35vh, Flj#: T &
FrE4m8, NRER TR EE 8 5 1% BRI h
R, WML 5 FhskAA L, H;

1) SV 2) SVC 3) SVO

4) SVO,0, 5) SVOC

A AR BRI A, B IR RIRIE, MRy ok

FEZMEm@Pm V, hikR i85 s i %50 K
Al phid i 4 847 2 & SV, SVC; Ripahiaiy il
A 3 Fh: SVO, SVO,;04 SVOC,
fER BT, Adverbial Modifiers i A 584 £ a4
A TEM, T2 A v 2, Bl

The book is on the table.

He has put the book on the table.

4 on the table B RRIE, BATER A, HiL,

L] 5 L]



Quirk % A4%M <4 REFFFL —Beb, Flf SVA
1 SVOA MR, ARASME KPR %, Banitansy,

4. —eAiEILEEAE SVC WAl V FobER ahin SR i,
CHAKIE. FBHHRV AHiRIE CAHMNLE, b
B, f1 SVOC iy C HFR—4; BT C REFEHLITE
R RIE AR RE A FRTE,

ey
-
e

H

ZH—ATF R, & KRB i H A #A, It
AR 5y ERE, RIS ARG IR, FTEA, O RS S# AW
H 0 IR, B G il B 1) T3 F iRl A0 i A O, B Al i s e
#iA, ’

L.C.
('I'he.listaling passage)

Mary Is Wrong

Mary is doing her mathematics with a computer. The
computer gives Mary this problem:
Three x plus three y equals nine.
Three # minus threé y equals three.
After thinking, Mary answers on the keyboard:
z equals one :
y equals three.
The computer teacher then says: “No. Try again.”

R. M. '
(A)
1. Today machines can play chess and do mathematical

. 6 .



problems. :
do #1124 F solve (1335 ¢, # BT HiEh, 43115 % A solve
problems.
2. In most cases, they are just metal or plastic boxes.
1) in ... case(s) ZIATEMATEA, RiAd%, BRE
ftb i A 41, Bl
in any case AT TR T
in that case EIFMEDLF
in the given case 7EZAEMHERT
2) just 1% F only, - i)
3) plastic 5 plastics f[X 2

a) plastic: fE & i@ it R GEEED, 1ERE
I, e R, ,

b) plastics: # i, 278 “WRME" | “BIEHRLR", (B
TE“SUpt (BREVED figs 24 plastics HIfELIEN, iF
TR A Kghial; (BRIE R iR, 15150
W1 K 1A, Bl

This aeroplane engine was made mostly of
plastics.
Plastics are man-made materials.
Plastics is a branch of science.
% plastic HifEmdr EiEnt, HIEEF ALY, @8
A E i, B
The first man-made plastic was made over
one hundred years ago.
Plastic of the first type are-hard.
3. They have two windows and a few knobs or push-
buttons here and there.



1) knobs $5iEH, & H A EEH, BF MFHIEH, O
Turn the knob, please.
2) pushbutton 548, "TELZIEEAY, %E‘TL).%K{&%

ARG, B R A F LN, B
Press that pushbutton, please.

. You press a button and the first question will
appear in one of the windows.
You press the button again and you will get the
correct answer.
X 24 F TLL R AR :
If you press a button, the first question will appeat
in one of the windows.
If you press the button again, you will get the
correct answer.
. You can see the computer’s answer and your own
answer at the same time.
own i % HEHERGEGE, MRIES, f:
I saw it with my own eyes.
. When the second question appears, your anrswer to
the first question goes out of sight.
1) answer {E&iAMH, ZRx---HBIE"H, JEHEER
4ria to, fi:
Your answer to the question is wrong.
Have you had an answer to the letter?
2) out of REASiA, EX'Y “in, into” MR, fi:
He walked out of the room.
He walked into the room.

Fish live in water



Fish cannot live out of water,

(B)

. The computers have all the information about traf-
fic, etc.
information 74 M %, J5H v #4117 about,on, fi:
Can you give any information on (& about) this
subject?
. If a policeman finds a car in the couniry and there
is nobody in it or near it, a computer can help him.
the country, Mi%k4ial country AugiEin the &M, £/~
“febr. ZH?, #H2%T the countryside, .
They like to live in cities, but I like to live in
the country.
. Yes, somebody many miles away lost it two weeks
ago.
somebody [F]* @A HHIBEOEN, FHELTIR some
body.
. In the future we are going to use computers for
almost everything almost every day.
every day &5 everyday fy[X %
every day 4RliAvEIRIA, X 5 — K" everyday BJEST
b, £AR“GH M, ZFMHEARR, i
We study English every day.
We are going to learn everyday English.
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FE P RTINS R, flin, AT RS
B, HRHERARNMREELSHEE, fAERE ERE
[] 38,
THAS LB T EH—ERENHEsAE.
' N (EBERE LS EH)E RMftataFrESE 0
& % Q& PicHD) B, 236 5,
TFELBL: W FOEN: GiXiE
2r -4y =8
2x—4y=0
Z P (BER) z=1; y=2
R A3, 15—,
L % 2=2 y=1
HEHL: #T, B, RiF REFE-
THEEPLINAES R, MIEARE &k ERT. HEA WL
5y Mg N TR, BEAS KRR, WA K, HHEHLERERIB IR £ %
& LR,
2k WREA G THIEALE— AP IE R, AL LIEHIR, 18
i B RE 2 B A i R w A
ML SR A, X ZECAE S RB N THEHLE Z6,

(A)
#F S
AR HLEES THL, SRS, PLEBERRTRELR, XL

e IO =



